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POPULATION STUDIES
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. According to the 2001 census, the share of the population in the age group 0 - 141
total population of India is closest to :

(A) 30 percent (B) 35 percent (C) 40 percent (D) ent
2. Which one of the following is #of matched correctly ? O
(A) Dual recording system - Chan ar’Demjng
Copgec

(B) Construction of life tables - R ell tables

C) Digit preference ‘s Index
(©) Digit p &

(D) Logistic law of population Chiang’s formula

3. Which one of the following se
to the latest estimates fromgth

is

correct ascending order of birth rate according
Registration System ?

(A) Kerala, Maharaghtra, a, Madhya Pradesh

(B) Kerala, Oriss allprashtra, Madhya Pradesh

(C) Kerala, a‘shtra, Madhya Pradesh, Orissa

(D) sa, Madhya Pradesh, Maharashtra

icIt one of the following is matched correctly ?

(A) Age-specific death rate for the age group x to x+n - nd,
(B) Person years lived beyond age x - T./L,
(C) Life expectancy at age x - L/,
(D) Probability of death between age x and x+n - nq,

J—1508 2



TS AT
9 qT — 11

A  THUET H U= (50) T5-Tashed i e €1 T U % aF (2) 31k T 1 |t Ui O IW
gifer |

1. 2001 % SIFTOAT & STER 0 - 14 % 3T o 1 97 ol S &
Feheam e

(A) 30 wfdsra (B) 35 wfazrd (C) 40 yfawrd (D
2. freAfafed § feum foam 2 72 €2 O
L 4
(A) T Remfén gomedt - e e
(B) STt difetent st T - ﬂ—éﬁiﬁ?aao

() fefe fumid -
(D) dISRee & % Wgeled -

3. ﬁ%ﬁﬁwmﬁw@
(&)

S H 9 3T ShH | 7 |1 5hH T &2

(B)
© , S
(D) & Ya¥l, HeNY
4, H 9 e b e @& 87
3T Tafe g&et x | x +n 3G & fau - nd,
(B) x @ o ULSiiferd W@ @l Al - T/,
(C) & x T Siia Jedrm - L/,
(D) g x AR x +n &k oA Tg AT H9E - ng,

J—1508 3 P.T.O.



Assertion (A) : Population growth in urban areas is higher than that in rural areas.
Reason (R) : Natural increase in urban areas is positive.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R} is not the correct explanation of (A)

(©)  (A)is true but (R) is false

(D) (A} is false but (R) is true

Arrange the following conferences in chronological order (from the % to¥the
latest) :
(i) Belgrade O

(i) Bucharest @ *
(i) Cairo

(iv) Mexico city

(A) (@), (), (i), (v) (B)
(©) @), @), (1), Gv) (D

(A) Preference for terminal ¢

B)  Omission of dead children

(C) Degree of ageing of bnn (D) Failure to make entries of zero

Which one of the f s not correctly matched ?

(A) Theory ¢f chan d response - Davis

(B) Inte e ?ariables - Davis - Blake
(O Quantity trade-off - Becker - Lewis
)] generational Wealth Flows - Leibenstein

ich one of the following is not correctly matched ?

(A) Demographic Transition - Notestein
(B) Fertility Transition - McKewon
(C) Health Transition - Caldwell
(D) Epidemiologic Transition - Omran



5.  ANIRIT (A): Wl & B wfHor &5 Y oThen 1 < S+l §
e (R) : el & H wnifaes gig oA 7
(A) (A) 3R (R) T 6 %, (R), (A) T 6 A& B
(B) (A) 3R (R) A W E AR (R), (A) T &l == 7 7
Q) (A) T& T ARRA (R) Tomd |
(D) (A) 7o § iferd (R) T8 2

6. = < TE TfEE B W orhA § aw) (Tl quEt faf § st ) 0
(i) s
(i) TERE .
(iii) U () @
(iv) Hfoaen fa Q
(A) (1), (i), (iid), (iv) (B)

Q) (i), (i), (i), (iv) (D & . (i)

7. Tewwsemwmiwmm__ f4 B T

(A) e fefseg =t o (B) Td Il o1 g (3fher)
() mmﬁmi (D) ¥ I 9fafE | TEHerar

8. "afumH R F frreran e § 2
(A) <fow
(B) fifere dRmew) - hw-ww
() Te-ATh - ShR-AfaE
D SINERICORTIE - CEERREA
@mwmwmvﬁw%?
(A) <HRNTER iR - e
(B) il gifed N CEER
(C) oo ZfoRE - wicedd
(D) TSt gifse - A
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10. The total number of Human Settlements (rural and urban) in India, as per the Census
2001, is approximately :

(A) 55 lakhs (B) 6.0 lakhs (C) 65 lakhs (D) 7.0 lakhs

11. In India, the maxirmum incidence of migration is observed in :
(A) Intra-district migration (B) Inter-district migration

(C) Inter-state migration (D) Inter-country migration

12. The average annual rate of growth of India’s population during l%@ was closest

to:
(A) 1.7 percent (B) 1.9 percent (C) 21 pe 4D) 23 percent
13. Which one of the following possesses dual recor of vital events ?

(A) National Sample Survey (NS5)
(B) Census

(C) National Family Health Survgff ( S)

(D) Sample Registration Sys,

14. Match the followin ml population debates with the proponents :
(a) Growth of fo roffuction is arithmetic (iy DBoserup
(b) (i)  Ehrlich
() (iii) Malthus
(d (iv) Marx
(v) Davis

(A) @) @) @) (v)
B (@) ) O @
© @@ ) @O @
M) @) Gv) @) ()

J—1508 6



10.

11.

12.

13.

14.

2001 T SIRIVAT & ST{ER 9Rd § $a 9Md aikal s 9@ (U0 9 wRd) e
N

(A) 55 g (B) 6.0 W@ (C) 65 @ (D) 7.0 @@

Trefafad & § 9Ra 8§, STyargT 1fehas el 2idl & 2

(A) 3T TSreT Seres ™ (B) AfSIel SYaTEH W
(C) U SyaET W (D)  SA<EYUE SAHHT T 0
T4 1991 - 2001 % I 9RA I G & FEq g | off |

(A) 1.7 gfawd (B) 1.9 gfawrd (C) 2.197?@ ) 2.3 gfdqera

W@aﬁ@mﬁsﬁwwmﬁﬁ@ﬁﬁw&h@@,mﬁw%ﬂfﬁw)w
THTERT el © 2

(A) A Y91 He (T TE.TE.) \

(B) WY

(C) TR Whife! oo Fel (T . gEE

(D) Hua Fereger e (

STHEA S o'H | %ﬁmwmﬁﬁﬁmm

(@) o W%% () SEReT
L Seieakn) (i) wEerR
<A | T 3G A § (ili) HEH"

F1 gig SHEET 99 % TUE § (iv) W
(v) <fam

(i) (iv) @) (V)
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15. Match the diseases with the vectors/carriers associated :

Disease vector/carrier
(a) Dengue (i) Sandfly
(b) Typhus (if) Flea
(c) Plague (iii) Louse
(d) Kala - Azar (iv) Smnail

(v) Mosquito 0
(@ @ (o (@ O
() (i) (V)

(

© O @ G @ .
(v) (i) () (@)

D) Gv) Gi) (i) () @

16. Assertion (A) : Asia experienced rapi
the twentieth ce

s

—~ s s e
N -
— =

Reason (R} : There was e decline in mortality in Asia.
(A) Both (A) and (R) are§rue R) is the correct explanation of (A)
(B) Both (A) and c t@ne and (R) is not the correct explanation of (A)

(C) (A) is true bu ijfalse

(D) (A) igfaXg buigfR) is true

17. As\OWgA (A) : The sex - ratio (female per thousand male) of the population in the
age - group of 0 - 6 years has declined recently.

ason (R} : There is selective outmigration of girls below the age of 6 years.
(A) Both (A) and (R) are true and (R} is the correct explanation of (A}
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R} is false

(D) (A) is false but (R) is true

J—1508 8



15. == & T2 w1 3% des o 919 fadr sifsa |

sariar arg®
<7 @ Hswg
BLER @) g
kSl (i) S
THIATSATSIR (iv) EE
(v) WX

@ ® © @ O
6 G) (i) )

© @ G) (i) @ .

(v) () @) (@

(v) (i) @) (i) Q
16. 3faekRed (A): TP H ol 9 & %ﬂwq@ﬁ?ﬁwﬁraﬂﬂaaﬁn@

e (R) : e # goge #

(&)
(B)
©
(D)

17.

J—1508

(A) 3R (R) S W&t ( HE = B
(A) 3R (R) ST T €] (A) T T = & R
|

(A) TE g,
(A) T B, ( 2l
L 2

H 0 - 69 % ST | folm i1 Srgaa (F 9 T &SR T2w) FH
R &)

6 % T TG | HH MG HI ASIRA hl el AEAIETET (selective
outmigration) 7

(A) 3R (R) ST W&t § 3R (R), (A) T & = §

(A) 3R (R) SHT T € TG (R), (A) i Tl =A@ T € |
(A) 9& ¥ Afeh (R) TTerd T |

(A) T ¥ SR (R) T T
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18.

19.

20.

21.

22.

23.

In India, the recommended populations per primary health centre and per health
sub - centre in tribal or hilly areas are :

(A) 50,000 and 5,000 (B) 30,000 and 5,000
(C) 20,000 and 3,000 (D) 20,000 and 2,000

The number of metropolitan cities in India (as per the 2001 census) is placed at ;

(A) 25 (B) 30 (C) 35 (D) 4

A goal of the National Population Policy 2000 is to achieve replac Qertﬂity
by the year :

(A) 2010 (B) 2015 (C) 2021 ®. 2045

The mean length of generation is given by the formu

(A) It (r) (B) In [In(NRR)]/r ( (D) 1/In (NRR)

If the expectation of life at birth is 73 vffar &the expectation of life at age 60 must
be :

(A) Less than 13 years (B) Exactly 13 years
(C) At least 13 years @ (D) Cannot say

Match the followir@o ents/techniques with the scientists :
(a) Regiongd modeMii#frables (iy DBrass

(b) Sin eag age at marriage (ii) IHajnal

() f stable population (iif) Wale - Demeny

o) ratio method (iv) Lotka - Sharpe
(v) Sheps

(@) (b (c) (d)
@A) @@ @ w0
® @ G ) @
© iy G 0 @
(D) Gi) (i) (iv) (i)

J—1508 10



18.

19.

20.

21.

22.

23.

IR H S Ud erel & § Ufa mefhe e sy qe SULe g i &d SHHe
g
(A) 50,000 3R 5,000 (B) 30,000 3R 5,000

(C) 20,000 3R 3,000 (D) 20,000 3R 2,000

2001 Y SFITUHT o STTIR YRA § HEMRI ohi &A1 fohaet aam T § 2
(A) 25 (B) 30 (C) 35 (D)

ﬂ@aw#ﬁzooow@waﬁ_____wwwqﬁw@m%
(A) 2010 (B) 2015 (C) 2021 & 2045

fordlt et &t faa o1y 1 9 § fore wjel (93) 9 A I 2

(A) It (r) (B) In [In(NRR)]/r ( (D) 1/In (NRR)

I S % AT T i FARM 73 9 T, &'gthwwzﬁ%rr%q?

(A) 1399 9 &H 3 13 9
(C) H 9 FH13 T4 (D) el &l S Hehell
RIS RIS E R CaV #WQWI
(@) OsHa diead () 9™
©) T (i) T
(c) EINGNE| (iii)  STA-SHAT
. YR A9 (iv) < o
(v) IH

@ ® © @
@A) @ @ @ 0
® @ i) ) @
@ @ 6 ©
(i) ) (iv) (i)

J—1508 11 P.T.O.



24. The growth of population after reaching replacement level is explained by the
phenomenon of :

(A) Population Momentum (B) Quasi - stable population

(C) Generalised stable population (D) Weak ergodicity

25.  Which one of the formulae yields 109x ?

(A) bBx+59x+5 (B) (59x).(59x+5)
() 1—-(1-59%).(1-59x+5) (D) (1-59%).(1-549x+5) : 0
26. The correct sequence of states in ascending order of the io ‘emales per 1000

males) of population in the 0 - 6 age group is :

(A) Punjab, Haryana, Jammu and Kashmir, Hima@ es
(B) Haryana, Punjab, Jammu and Kashmir, al'Tradesh
(

(

o=}

)

) Punjab, Haryana, Himachal Pradesh, d Kashmir
D) Haryana, Punjab, Himachal Pz

27.  According to Malthus, the cks on population growth are :

(i)  Disease

(ii) Starvation ®
(iii) Celibac

(A) (@), ( iii’are correct (B) Only (i) and (ii) are correct
(C) ly d (iii) are correct (D) Only (ii) and (iii) are correct

stable population becomes a stationary population if :
(A) The intrinsic birth rate equals zero
(B) The intrinsic death rate equals zero
(C) The intrinsic birth rate equals the intrinsic death rate

(D) The intrinsic birth and death rates remain constant for a long tirme

J—1508 12



24.

25.

26.

27.

Hiae\ (Reie) F TR IF W Fae e B gfgwr=men &l ggfd
(A | ST §

(A) SEE T (A=) (B) Teeraq SHEE (FaH-wda)

(C) wmiTed feer SHEeEn (D) fafore wiifefee

o wIfeT ¥ 109 WTH BT ® 2

(A) 54x+5d9x+5 (B)  (59x).(59x +5)

(C) 1—(1-59).(1 59 +5) (D) (1 -59%).(1 59 +5) 0

0- 6 SATa H foirl 1 STgart (W 1000 Tl & fore foaraf) T o a1rige 5 & i 1 % 2
(A) USE, gRET, -, e T 0

B) B, 4, SH-weHR, feumea wew
(C) dsire, B, fear=rel gasl, SHY-sheHi &

(D) efamm, g, femme yew, SH-
mﬁw%wmﬁqm g fr § 4 a9 9 82
IR *

iii) Ot & (B) eIt (i) 3R (i) W &
(iii) &t € (D) had (if) 31 (iii) T §

able) SHEAT 379 (stationary) 7 ST § AfS

$)“ FAYd (intrinsic) ST I F IR A B

(B)  Fasd JIeR Al I % SRR & el T

(C)  Fiasd e $Tavd TG o e Bt B |
(D) HIE-od 99 T Al fasfd TR 3R Jogex T &t

J—1508 13 P.T.O.



29. A population pyramid with a bulge in the age range 10 - 24 indicates :
(A) A stable population (B) Recent decline in fertility

(C) Recent decline in mortality (D) A closed population

30. Match the following situations with populations :

Situation Population
(a)  Very high natural fertility (i) Botswana 0
(b) Recent rise in mortality (ii) China

(c) Omne - child campaign (iif) Hutterites O
*
(d) Pro - natalist policy (iv) Thailand ®

(v) Russia
(@ (b () (@

@ @ oo @ \

® @) @ 6 @

© @ O © @

® O @ @ @

31. A population gro@ a constant rate of 1.4 percent per annum will double in

approximate
*
(A) 28y (B) 50 years (C) 70 years (D) 140 years
32. puting the directly standardised death rate :

The age distribution of a standard population is used
(B) The age - specific death rates of a standard population are used

(C) Both the age distribution and the age - specific death rates of a standard population
are used

(D) Both the age distribution of a standard population and a model life table are used

J—1508 14



29, SEEn & faufie § 10 - 24 & e & 9 ¥ 39R fewamd €

(&)

Q) IR H T & H firree

Teh TeeR SEEn

(B) USA H =@ & H finae
(D)  TH Had (closed) SHEYE

30. = o frafaai =1 fafys smaen & @y faems |

o

(a) TET S ST i
(b) IR HTa & H gfg (i) = O
() T e SEE (i) T @ .
(@) FEEE i (iv) w@mo
)
(a) () (o) (@) ®
(A) @) @ @@ (v
B) @) @ @O )
Q v @ () (@@
O @ () @) (v
31. 1.4mm@ﬁaﬁmﬁw_____aﬁﬁwwa
S ¢
(A) (B) (C) 70 (D) 140
32. % Y eThRed H ¢
M SHEEA 1 3177 foaron s&9e 2 ¢ |
(B) WM SEE i fafie 1 Joe siwre g 71
(C) WM SEE &1 31y faawor qen 31y fafew goget seue 2 7
(D) WS SGEA &l 3 faawon R el 11 arferet 1 ol S&ITe 2rel |

J—1508
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33. Model South in the Regional Model life tables is based on the experience of countries in

the region :
(A) South Asia (B) South America
(C) Southern Europe (D) Southern Hemisphere

34. Assertion (A} : Environmental pollution is increasing in metropolitan cities i
Reason (R) : The vehicular traffic has considerables increased in metrg
(A) Both (A) and (R) are true and (R) is the correct explanation o

(B) Both (A) and (R) are true but (R) is not the correct explanatidg of (M)
(C©)  (A)is true but (R) is false Y3
(D) (A)is false but (R) is true

35. Development is a function of : @

A) Population growth, resources an

C) Population growth, resqfffrc technology

M) Resources and techndo

36. The number of bio@iversity global Hotspots is :

(
(B) Population growth, resourceqlenvignment and technology
(
(

(A) 20 ® B 25 (C) 30 (D) 35
37. of the following is not matched correctly ?
ource Method
(A) Census Enumeration
(B) Civil Registration Reporting by designated registrars
(C) National Sample Survey Mail questionnaire

(D) National Family Health Survey  Interviews by investigators

J—1508 16



33. &5 HIed TR o H Hied sy fohd & & 9 o 1gHd W ST §2

(&)

©

BSIERRUEE (B) UI=Y TR
<feoft 79 (D) ferolt e

34. AUHRYT (A): 9RA & HERI H FACRUTT TGUU 96 W © |

qeh (R) : TEATRI H aTel o SRR | TR § S 9g TR |
(A) (A) 3R (R) ST W B (R), (A) T T =T T

(B) (A) 3R (R) I F& T (R), (A) Tl T =AE&A T B | O
(C) (A) T8 g, T (R) To@ B .
(D) (A) 7o §, T (R) &l T @

(&)
(B)
©
(D)

35. foem_  wIUeHE B &

O

SHEE gfg, FaeE, qAieR
T e TS

36. Wﬂéﬁ%%@ﬁﬂwﬁﬁw%

@ﬁmwﬁmaﬁmw%v
NS
B

©

$ ® B 25 30 (D)

UM (SIFEA)
TrHIfER TR gr R
TIe duer g4 ST YYAEAT

D) TS URER Weed qae0  3Tweh] §RI HIaTehR

J—1508
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38. The enumeration of population in Census of India is currently being carried out by :
(A) Defacto Method
(B) Dejure Method
(C) Extended Dejure Method

(D) Combination of Defacto and Dejure Method

39. Which one of the following does not yield eg 0 ? 0
(A) Teo/lgn (B)  (Tss+5Ls5)/1gn O
(©)  (Ts5—slss)/len

(D) (Tgs +5Len)/ Q .

40. The estimates of annual renewable Fresh Water availfple pf capita at the global level

(in cubic meters) are :
(A) less than 2,500 cubic meters (B) ; ,000 cubic meters

(C) 5,000 to 10,000 cubic meters (000 and above cubic meters

41. The countries arranged in dgffeNin®Mprder of Carbon dioxide emission per capita

(A) Australia, Germ v, United States
, Australia, Norway

ay, Germany, Australia

(D)  Unit es, Australia, Norway, Germany

42. ¢ - Female gap in literacy rate in India in the Census year 2001 was
imately :
08 percent (B) 18 percent (C) 28 percent (D) 38 percent

43. Work Participate rate (including main and marginal workers) of female population in
India (based on 2001 census) is nearly :

(A) 25 percent (B) 35 percent (C) 45 percent (D) 55 percent

J—1508 18



38.

39.

40.

41.

42.

43.

IRA I SRTUAT § ST 6t 0T Ao gea A fEfafea ¥ FER R SR S|
(A) S R fafu/aega: fafy

B) < R fafu/fafea:

(C) fowarfia <t < fafu

(D) < R oiR € s fafy o1 wwfaa &9

J= for@ g A A egoag'i‘aﬁm? 0
(A) Teo/lsp (B)  (Tss +5Ls5)/Igg O

Q) (Ts5—5kss)/Igp (D) (Tgs+5Leo)/ @ *

mey@fmmﬁwﬁaﬁmmﬁs@(wwm%:
(A) 2,500 Hfeer Hie | A 00 FIfereh HieT T

(B)
(C) 5,000 9 10,000 Hfask HeX Th 000 aun sAfeeh spafaeh Hiet
FHTETSIZHFES o IS i @%%ﬂwﬁﬁwﬁf@aéﬁaﬁmm

(descending order) H @y

2001 T STOAT H GEU-CA i HI&AT 1 ST TR o

08 gfasrd (B) 18 gfaerd (C) 28 gfaerd (D) 38 gfawd

2001 Y STIAT o SATHR T bl STEE! ohi Sl § YiqaiiTar (&7 Ud 3T 90d) e
g

(A) 25 gfaera (B) 35 gfaerd (C) 45 gfaerd (D) 55 gfaerd
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44. The average age at marriage for Females in India (Census 2001) is in the range of :
(A) 15 to 16 years (B) 16 to 17 years
(C) 17 to 18 years (D) 18 to 19 years

45. The P/T ratio methods requires data on number of women tabulated by age and 4

(A) children ever born and births last vear

(B) children ever born and children surviving

(C) children ever born by sex 0
(D) children ever born by ages of children O

*

46. The correct order in which various approaches were j e the Indian Farnily
Planning Programme (beginning with the earliest ap@ 15

(A) Clinic, Cafeteria, Extension, Target
(B) Clinic, Extension, Cafeteria, Target
(C) Clinic, Cafeteria, Target, Extensj

(D) Extension, Clinic, Cafeteria,

47. Assertion (A): The 1 %Populatlon Policy of India recommended

aba f incentives to contraceptive acceptors.
Reason (R) : arest conference emphasised the strong link between
n and development.
(A) Bo d &) are correct and (R) is the correct explanation of (A)
(B) and (R) are correct but (R) is not the correct explanation of (A)
() s true but (R) is false

) } is false but (R) is true

48. Which one of the following sequences gives countries in correct descending order of
fertility according to the latest estimates ?

(A) UK, US.A., Ukraine, Italy (B) US.A, UK., Ukraine, Italy
(C) US.A., UK, Italy, Ukraine (D) UK, US.A,, Italy, Ukraine
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44.

45.

46.

47.

48.

IRA Y 2001 T SFHITUMT o STER fordl 1 ofrad faare =t 30 =t 39 f 8 9 &9 9t 22
(A) 159 16 94 (B) 16917 o8
(CQ) 1791898 (D) 18|19 98

1./, ru fafy & faw ey o fewe | forl & @en ot aifere den
SETTIHA Bl B |

(A) It 7 a7 91 S ® 91 fosal o & 5 (F=)
(B) a1+t Tk oI o= S e o 9 S 9= T ¥ (S gu ) 0
() ot 7 % o s (fefm % TER) O

(D) 31ft T &% S 9= 3R 3Tt 3Ty .

wﬁq@nﬁﬁmﬁﬁwmm@%ﬁm@m<mmmﬁa

HEI: AW) ¢
(A) foafs, FReRal, oM, 2rte

(B) ToAlToh, TIRACIM, hthe AT, TRIS
(C) foaftes, SR, 2rfe,
(D) TSN, ot

< I HAifd Y BreA w1 Ggfa #
g@j&z@mﬁwwm%ﬁaﬁaaﬁ@wqmwﬁm
[ gt € 3R (R), (A) 1 T& =R 7
) S &l € AR (R), (A) 1 T oA T ¥
) 9t ® AR (R) Terd 2|
(A) A ¥ ifeRA (R) TR B |

AR (A) : lﬁ@? w1 TEA SEE it 7 1Y w1 WER w3 aell &

ek (R) :
(A)

B

TR STIAMI o STTIR ISTHIHRA o feqme ¥ == fSu U <9 § SiF 91 31a8E 9 98l © 2
(A) 4., I THT, IhA, 5ol (B) FATHY, Y., T, gl
Q) FTET, Y., 3adl, Tohd (D) 4., I TET,, 3, Iohd
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49.  Which one of the following is not correctly matched ?
(A) Model of martial fertility Coale - Trussell
(B) Model of age at first marriage Coale - McNeill
(C) Model of open birth intervals Srinivasan

(D) Model of closed birth intervals  Coale - Demeny

50. A stable population always has : O
(i) Constant birth rate
*
(ii) Constant death rate
(iii) Constant size 0

(A) (D), (ii), (iii) are correct (B) Y (ii) are correct

(C) only (i) and (iii) are correct y (ii) and (iii) are correct

<
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49. = fo@ ® S oo w9 78 § 2
(A) Wied 1k Bfed wifaet Hicl-2Hd

(B) Hied ATh T T2 v ARTS FIct-Hehret
(C) Hfed AATh 3T 9 setacq Fifame

(D) #ied ATF Flvs def getecH hiei-feut

50. Ueh fEeR SEEA i B0 : O

() TR ST EA R ¢
(i) TR IIRIA T 0

(i) TR TR B T @

(A) (D), (i), (i) T2 T (i) 3R (ii) T S|
(C) &I (i) 3R (iii) T T

S
s

e (i) 3R (iif) T ¥
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